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#include<stdio.h>
#include<conio.h>
#include<math.h>
void main()
{

clrscr();

float a, b, c, d;

long double x1, x2;

//Read input data for equation

printf("a = "); scanf("%f", &a);

printf("b ="); scanf("%f", &b);

printf("c = "); scanf("%f", &c);
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printf("d =");
scanf("%f", &d);

//Calculate equation
x1 = (sqrt(-b + (b * b) +4 * (a * ¢)))/(2*a);
x2 = (sqrt(-b - (b * b) +4 * (a * ¢)))/(2*a);
//display result
printf("x1 = %e\t x2 = %e",x1, x2);

getch();
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#l = -8.837000e+228 %2 = 3.236253e+234
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#include <stdio.h>
#include<conio.h>
#include <math.h>
void main()

(

double x =10.0, y=2.0 ,z=16.0,a=2.718282, b = -2.718282, m=1.0;

clrscr();

printf("\n\tpow(x,y) = %4.2f when x=10.0 y=2.0", pow(x,y));

printf("\n\tsqrt(z) = %4.2f when z=16.0", sqrt(z));

= %4.6f

AN

printf("\n\texp(m)
printf("\n\tlog(a) = %4.2f

printf("\n\tlog10(x) = %4.2f
printf("\n\tceil(a) = %4.2f
printf("\n\tceil(b) = %4.2f
printf("\n\tfloor(a) = %4.2f
printf("\n\tfloor(b) = %4.2f
printf("\n\tfabs(a) = %4.6f
printf("\n\tfabs(b) = %4.6f

getch();

when m=1.0",exp(m));
when a=2.718282",log(a));
when x=10.0",log10(x));
when a=2.718282",ceil(a));
when b=-2.718282" ceil(b));

when a=2.718282" . floor(a));

when b=-2.718282" floor(b));

when a=2.718282" ,fabs(a));

when b=-2.718282" ,fabs(b));
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pow({x,y)
sqrt(z)
exp(m)
log(a)
logl@(x)

ceil(a)

ceil(b)
floor{a)
floor(b)
fabs(a)
fabs(b)

2.718282

when
when
when
when
when
when
when
when
when
when
when
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. 718282
b=-2.718282
a=2.118282
b=-2.718282
a=2.718282
b=-2.718282

404



s J ' o
Tondh 3. 1ddenudeuTisunsuduais uazdnyiwansirauTdsunsy

wouoomgualumsudaswansuaasnedaull

#include <stdio.h>
#include<conio.h>
int num ;

long result;
long fac(long n);
void main()

{ clrscr();

printf("\n\tInput the number that you want to find factorial :

scanf("%d",&num);

result = fac(num);

printf("\n\tFactorial of %d is %ld ", num , result);

getch();

o P T
na@aulilsunsuaaniamed [dindud faa.]

ANA AUINTE

405

AN



406

Y]

= o
unnramsmauldsunsy

ﬁ Turbo C++ IDE |E|E|éj )

Input the number that you want to find factorial : 10

Factorial of 10 is 3628800
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